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INSTRUCTIONS TO CANDIDATES (Please read these instructions carefully)

1.

You have been given this question booklet and a separate answer sheet. The question booklet contains 50 questions.

2. Do any necessary rough work in this booklet.
3. When youhave chosen your answer, mark itonthe ANSWER SHEET, not in this question booklet.
HOW TO USE THE ANSWER SHEET
4. Useonlyanordinary pencil.
5. Make sure that you have written on the answer sheet:
YOURINDEX NUMBER
YOURNAME
NAME OFYOUR SCHOOL
6. By drawing a dark line inside the correct numbered boxes mark your full Index Number (i.e. School Code Number and the
three-figure Candidate's Number) in the grid near the top of the answer sheet.
7. Do notmake any marks outside the boxes.
8. Keep the sheet as clean as possible and do not fold it.
9. For each of the questions 1-50 four answers are given. The answers are lettered A, B, C and D. In each case only ONE of the
four answers is correct. Choose the correct answer
10. On the answer sheet, show the correct answer by drawing a dark line inside the box in which the letter you have chosen is
written.
Example
In the Question Booklet.
35. The following are factors of sixteen. Which one is the odd one out?
A. 16
B. 1
€. 8
D 3
tA1 tB1tCr Do tA1r tB1tCr (Dr tA1 tB1tCr Dy tAr tB1:Cr o IEY tAr tBi «Cr tDs
On the answer sheet:
In the set of boxes numbered 35, the box with the letter D printed in it is marked
11. Yourdarkline MUST be within the box.
12. Foreach question ONLY ONE box is to be marked in each set of four boxes.
=
=
=

This question paper consists of 8 printed pages.

906503 © Mtihani Bora
Contact Mr Machuki 0724333200/0795491185 for Marking Schemes or kenyaeducators.co.ke




L

1.

tod

What is tuny S million ety seven
trousand five hundre 4nd seventy eioh
Writen in W mbale? )

AL 36047478

Whish . >3 . :
Which of the tollowine statements i
correet?
1
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‘\N z 011
i
R et i
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avilluge. Each family
I maize. How many

‘erence between the total

and digit 7 in the number

w £of olcrwy

25075497

2 LS
~. G345

6. Construct atrianple ABC in which fine
AB = Tem, angle BAC = 70° and angle
ACH = 75" Drop a perpendicular from
point C to meet line AR at point N. Mark
point O on the perpendicular hiscsu?{
Semt from point C. Join O to B. What Is
the measure of angle BON?

AL 90"
B. 55°
C, 35
. 65"

7. Inthe figure below, line XW is parallel

toline YZ. /
W Y/ N

aa

Which of the following statements is
true about the angles In the figure
above?

A.d=c¢

B.c=i

C.g=i+h

D.e=h

8. Alice brought some bananas to her 15
classmates. She ate 3 bananas onthe
way and there afler realized that she had
toadd 5 more bananas so that each of
her classmates could 2et 3 bananas.
How many bananas did she have
initially?

A 45
B.72
C. 48
D.43
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11.

12.

Kinvajui deposited =h. §000 in a bank

that paid simple interest perannun.

At the end of 2;}, years, he withdrew all
2

his money which had amounted to

sh. 9200, At what rate was the interest

caleulated?

A 12%

B.6%

C. %%

Mitchell left town C at 8:15am and cyeled
at a speed of 12km/h tor 2 hours, She
then rested for 35 minutes before
resuming the journey at aspeed of 15km/
h for 2 hours 20 mins to town B, then
back town C. How many

os did she cover altogether?

3 s

travelied

oarden whose area is 1296m” at aregular

% -

Iy

interval of 4m. He left a space of 8m for

the vate, How many trees did he plant?

Halima slept at 7:25pm und woke upal

0915hrs the following day. For how long:

had she slept?
A. 2hrs 50 min
3. 10hrs 50min
C. 13hrs 50min
D. 12hrs 50min

15

(ER

h

16,

Constroct o thontbies WXYZ, b0 which
line NY - 6 Sctm and anple WXY = 1 1",
Wt i the length of line X272

A 7. 5em

11 1L50m

. G4dem

2, K.6em

Witleh of the following is trne about the

sauare below?

";R . o ‘_M- /ﬂ

Y

e ( \
{?K, — ,i IREPNS—— b

D ) 4

AL Al the sides ol the tiangle AOB
are equal,
B, Angle BOC - angle AOB
C. Triangle DOC is anisosceles triangle.
D. One of the angles ol wiangle AOD -
60",

Martha sold a dress tor sty 720 making
a loss of 10%4. How mueh protitwould
she have made ishe had sold the dress
at 2000 profid?

AL Sh. o

B3, Sh, 160

¢, She R0

D, Sh, 80

\
141

What 1= the value

. 2
v+l
when o b, b= dande= b+ 32
AR LY ’
1312
.18



17. In a meeting,

189,

21.

-t

7 of the attendants were

men, 7 of the remainder were women
and the rest were children. How many
ghdqu were there i there were 160
Wwomen in that meeting?

AL320

R. 480

C. 240

D. 640

What is 25.678 rounded
nearest tenths?
A.25.70

ofl to the

DAw:
th!
s
e

). A man pzid sh. 3800 for a suit after

petting a 3% discount on the marked
price. How much would he have paid if
he had been given a 15% discount?

. Sh. 3600

B. Sh. 3400

C. Sh. 4000

D. Sh. 3750

i

Pupils in & school contributed moncy for
a tour as follows;

Grade 1 - 3 contributed sh. 250 cach,
Grade 4 - 5 contributed sh. 400 cach
Class 6 - 8 contributed sh. 650 cach,
How much money was contributed
altogether if each class in the school was
double stream with an everange of 40
pupils per stream?

A.8h 13n0nn

PR VITIT Y]

B. Sh. 140000
C. Sh. 140000
D. Sh. 280000

22.

24,

25,

The table below shows suataty farc‘v in
stlllings frons toven A to town F,
A
1601 R
250180 1C
150200 150D
4501350 {250 1100 12
Twelve passengers boarded the mataty i
tosn A. Four of them alighted at town B
and six more boarded. Two more
passengers boarded the matatu at Town
Cand all proceeded to town E where they
alighted. }PI()W much money was collected
altogether?
A. Sh, 6840
B. Sh. 7840
C. Sh. 6200
D. Sh. 6340
What is the sixth number in the
sequence; 6, 13, 24, 37, s
A.69 '
B. 52
C. 54
D.73
What is the value of 'y in the equation;
y 2
—t=—(y+5)=67
7 F7+3)
102
A 11
10
B, 2
11
C.3
]
4
D2
9
The table below shows the muonber of

pupils who were in standard 5 to 8 in
aschool from 2018 to 2021,

SIS TSId6 TSt 7 TSR
018 18T |87 79 '
2009 1778 (80 16 73
2020 187 82 78 o4
Z07T 180 84 69 13 ]

How many pupils who were in class
five in 2018 had dropped out of class
by 20217

n

oaws
oo~y
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The arca of the curved sirface olaeylinder
ix 268cem’ and its height is 22em. What
iy the radivs ol the oy linder?

A
B.

C.7em

{dem

28em
[ 3.3¢em

Whatis the value of;
1637 44 = 687

A 248

B.24.08

D. 2.408

A jua kali artisan made a metallic box
whose length was 80cm, height of 50cm
and a width of 60em. He painted the

tox on the cutside all round, What area

wae maimierd
TR aes pibmad b

in square metres?

- = =+
: i;}""‘f”ﬁ»
s s dBeias

;ﬁm

23600m°
. 2.36m?

(.0236m"

™ oW

o

Judy bought the following items froma
shop.

- 3 Jouves of bread (@, sh. 45

3 .
- 5;, kg sugar af sh. 120

- 3 - 2 ky packets of rice al sh, 130
I |
- 52 kg meat at sh. 100 per kg.

%hat balance was she given from 2 one
thousand shilling notes?

A.Sh, 335

B. Sh. 565

C. Sh. 665

D. Sh, 465

30, The dlagram below showsa scale
drawing of a ptot of land drawn to scale
1:25000.

i ——————"y

“What is the actual area of the plotin
hectares?
A, 15ha
B. 1.5ha
C. 1500ha
D. 150ha

What is the value of;

218-=0.5x 3.2 +73 o
0.4

31.

bt o3
L

vow >
=

1 E e

5
32. A salesman earns a basic salary of

sh. 5000. He is also paid a commission
of 3% on the value of sales made above
sh. 20000. In one month, he sold 1500
items at sh. 240 each. What was his total
eaming that month?

A. Sh, 10200

B. Sh 15800

C, Sh. 15200

D, 8h. 8200

33, A company shared dividends among its

three sharcholders such that Kipkotut

received sh. 10 more than Abdalla, while

Kivungi got twice the amount Kinkany
e0t, 1 Abdaila veceived sh. x, which of
the following expressions represents the
total amount of dividends received by the
three? :

A.Sh. (5x +30)

B. Sh, (4x +30)

C. Sh, (2x+20)

D. Sh. (3x +30)
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The o of ha VS o girdy i sehon] iy 1,
A there 18D Mo il than boyy,
hﬂﬂ\‘ !”ﬁ]’!\ hg!\ 5 q\s‘hv”«w m [!’u '\Ph““l 3
240
B. 720
C. 510
E" 1260
What is the Product of the vergiees and
the edges oy triangular prism?
A.54
B. 45
C. 270
1). 15 *g”u
What is the total distance round (he
iz.ﬂ%"‘ ‘\ W’
A1,
[8m
fference between the ¢ M
ol 24,32 and 407
42,
A pick-up carried 1f; lirty-50kg by of
rice ,:rvjmmty 20kg bags of four, If e
€Mty pick-up wigiss 1.8 tommes what
was the total mass of the Joaded pick-up
in tonnes?
A 3Tt
B. 1.9
C. 3.6t
D. 2.8

Emmy bad 240 litees of i Juice. She packed
three quarters of the Juice into 500m)
bottles and the rest into 300ml bottles.
What was the totul number of bottles
packed?

A, 360

I3, 200

300

12, 560

A rectanpular water tank is §m long, 6m
wide and 6m high. How much water in
litres does it hold when it is three-quarter
full?
AL 2160001,
B. 72000L
¢, 2880001

44000L

An jsosceles riangle has a perimeter of
S0cm and cach of jts equal sides
Measures 17em, What is its area ?

A 290em?

B. 120em?

. 136em?

D. 67cmy?

The marked price of a cooker was
sh. 7500, 1

20% more than the marked price,

e hire purchase price was

Wambug bought the cooker on hire
putchase terms, e paid a deposit of

S 3000 and the balance ; N monthly

ffgg{:gf]g}jg;:f} of sh, 750, 1y how many
maonths did Jye pay the
A2

B.g

C. 10

1).6

balance?
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48.

49.

John eyeled from home to the market st

an averaiipC spe od of Smfs for 20

minutes. He went back home cycling at
an averinge speed of 10m/s. ifhe left
market at 2.00pm, at what time did he
reach home in 24- hour clock system?
A.0210hrs

B, 1430hrs

C. 0230hrs

D, 1410hrs

Muchai went on leave from 16th Jan 2021
and reported back on 19th March the
same year. For how many days vas heaway
from work?

A 60

B. 61

C.62

D. 63

lelto

In the figure below, line AB s par
line CD. Line XY =PY and angle QR2 =

B

\v
N

What is the size of angle RQP?
AL 0"
13, 48"
. 567
D, 44
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The graph befoy: shows the jouriey made by « bus and a car.

Nairabi 200{-

180~

Nakuru {j‘éw‘ — -
5 ng;'ud\ 00?}({\ QQ?)({‘
L~ QM A0~ AN

Time in hours

How far from Nairobi was the bus when the car arrived in Nakuru?
A.40km
B. 60km
C. 80km
D. 50km
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